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Podrobnéjsi informace o prijimacim testu

U uchazecud o studium se predpoklada jazykova zpusobilost na urovni C1. Vétsina otazek testu se zabyva
praktickou aplikaci jazykovych znalosti uchazecl a jen mensi ¢ast otazek mlze vyzadovat formulaci teoretickych
znalosti uchazect.

K Uspésnému vykonani prijimaci zkousky je potfeba splinit pfijimaci test alespor na 60 %.

Na vyplnéni testu budou mit uchazeci ¢asovy limit 60 minut.

Prijimaci test ovéruje tyto slozky jazykové zpUsobilosti:
Cteni s porozuménim,

gramatickou kompetenci,

lexikalni kompetenci,

fonologickou kompetenci.

Cast prijimaciho testu zaméFena na ¢teni s porozuménim

Porozuméni dvéma rlznym autentickym textdm (dohromady 350-400 slov) je ovéfovano pomoci tloh s vybérem
odpovédi. Déle je ovérovana schopnost porozuméni vyznamu i méné znamych slov, a to

(i) vyhledavanim vyrazu nebo fraze v textu na zakladé dané definice,

(ii) vybérem definice, ktera nejlépe popisuje vyznam vybraného slova nebo fraze z textu.

Viz priklady a kli¢ nize.

Cast prijimaciho testu zaméfena na gramatickou kompetenci

Produkce a rozpoznani rliznych gramatickych jevi jsou ovérovany pomoci tloh na identifikaci a opravu chyb a
také pomoci Uloh s vybérem odpovédi.

Viz pfiklady a kli¢ nize.

Cast prijimaciho testu zaméfena na lexikalni kompetenci

Rozsah slovni zasoby je ovéfovan na zakladé Uloh s vybérem odpovédi. Déle je testovana slovotvorba (schopnost
utvorit k danému slovu antonymum, zménit slovni druh uzitim vhodné pfipony, atd.).

Viz pfiklady a kli¢ nize.

Cast prijimaciho testu zaméfena na fonologickou kompetenci

Na zakladé Uloh s vybérem odpovédi je ovéfovana schopnost rozpoznat spravné prepsanou vyslovnost
jednotlivych slov, slovnich spojeni, ¢asti nebo celych vét.

Viz priklady a kli¢ nize.
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1. Reading

TEXT 1: Belgium to mull Islamic veil ban

TASK 1

1. Read the article Belgium to mull Islamic veil ban. (total: 6 points)
For questions 1-6, choose the answer (A, B, C or D) which fits best according to the
text. Circle it. If you circle more than one, your answer is incorrect.

1.1 A Dutch-speaking party referred to in the 2nd paragraph
A removed its representatives from the government.

B lobbied hard for the changes in the government.
C persuaded their opponents to pull out of the government.

D aimed at power-sharing with the Flemish Liberal Party .




TASK 2

2. Find in the text the exact word, expression or phrase which means the same as
the following definition or short explanation of the meaning provided below.

Do not forget to provide the full and identical form of the word, expression or phrase.
(total: 10 points)

Examples:

01) the piece of legal text containing the main ideas but not in a final form (1st
paragraph)

________ thearaftlaw . . ................NB:alwordsarepart of the
answer

.................................................................................................................

TASK 3

3. What do the expressions in bold below mean in the context of the text? (total: 4
points)

Choose the answer A, B, or C which fits best according to the text. Circle it.

If you circle more than one, your answer is incorrect.

Example:

0. naval

A head.

B ashade of blue.

© belonging to a country’s




ships.

3.1 commanded

A was in control of his emotions.

B was in charge of.

C was able to use his qualities effectively.




2. Grammar Basics

1. Decide if the sentence is grammatically correct (C) or incorrect (1).
Circle “C”" or “I".

Example: 1'll phone you when we'll get there. Cx(@®

©xl/

I'll phone you when we get there.

1.1 He warned them against going climbing in such bad weather. Cxl

1.2 Christmas can be quite magical, especially if you are spendingit C x|
with children.

1. Circle one correct option to complete each sentence.
Example:

| remembered him _  the book, but not returning it.

A. borrow

B. to borrow

C. to have borrowed

©. borrowing

1. The security guard denied whatsoever to do with the theft.
A. that he had nothing

B. to have something
C. having had anything
D. having nothing




3.Vocabulary

1. Choose the word which best completes each sentence. Write A, B, C or D into the

gap.

Example:
0. The main ....A... in the story is a leading politician.
A. character B. individual C. human D. person
1. 1 Even though | did not want my daughter to go to the disco, since she was

eighteen there was nothing | could do to ...... it.

A. hinder B. prevent C. resist D. cease

2. Provide the negative forms of the following adjectives in the spaces provided.
Spelling mistakes will be considered wrong.
Example: satisfied

dissatisfied

rational meaningful




3. Form nouns from these words in the spaces provided. Spelling mistakes will be
considered wrong.
Example: interesting

interest

obstinate to satisfy

4. Form verbs from these words in the spaces provided. Spelling mistakes will be
considered wrong.
Example: minimum

minimize

large politics




D. Pronunciation and transcription - Version A

1. Decide which pronunciation is correct in Received Pronunciation and circle it.

Example:

1. gesture a) ['dzestfo/ /'dgestj” o/ c)/'gestfo/

(6 marks, one for each correct answer)

1.1 analysis a) /'eens larzis/ b) /e'naelasis/ c) /'eenae lis1s/

2. One of the transcriptions of the words in bold below is correct; the other two are wrong.

Indicate the correct one. (4 marks, one for each correct answer)

Example: Could it be a stool rather than a table?

a)/a'stul'ra:0a0an/ @le'stuzl'ra:éeéan/ o /o'stu:l'ra:0a'dan/

2.1 All of this brings us to the third problem...
a) /'brinsestadi:/ b) /'brinzastu:ds/ c) /'brinzestads/

3. 1 Explain what the term HOMOPHONE means and give an example.

3.2 How many long vowels does English have? Name hem.




KEY

READING

1.1A

2.1 not obvious (2nd paragraph) unclear

2.2 to end a problem (2nd paragraph) to be resolved
(to or be missing= 0)

3.1B

GRAMMAR BASICS
1716126
2.1C

VOCABULARY
1.1B, 1.2C

2. irrational, meaningless
3. obstinacy, satisfaction

4. enlarge, politicize/-se

PRONUNCIATION AND TRANSCRIPTION
1.1B
2.6

3.1 Words which sound the same but have different spelling and often

different meaning, e.g. NO and KNOW.

3.2 Five: o, ag, iz, us, 8¢




